Auareopa. 10 knacc

CamocrosiTesibHasi paboTa

Tema: Pemienue ypaBHeHM, COAePKALUX MOAY b

Bapuant 1 Bapuanr 2
1. Pemiuth ypaBHeHUA
a) [x+4|=1; a) |x-3| = 6;
0) [x*-4x+3| = |2x-2; 0) [x*-5x+6| = |2x-6];
B) | x+4|+|x-3|=7 B) | x+4|-|x-3|=1

Aureodpa. 10 knacc

CamocrosiTesibHast paboTa

Tema: Pemnenue ypaBHeHM, COAepPKALUX MOAY b

Bapuant 3 Bapmuanr 4
1. Pemiuth ypaBHeHUA
a) |x?-4| =5; a) |x*-2x| = 3;
0) [x?-x+3| = [x+2]; 0) [x?-3x+2| = [x-1];
B) | x-4|+|x-6|=8 B) | x+3|-|x-2|=5
Aureopa. 10 kiaacc
CamocrosiTesibHasi paboTa
Tema: Pemnenue ypaBHeHM, cCOAepPKALUX MOAY b
Bapmuanr 5 Bapuanr 6
1. Pemiuth ypaBHeHUA
a) ||x+6|-5| = 4; a) ||x+6|-5| = 3;

0) [x*-x+3| = x+2;

B) |x|+| x-1]+|x-2|=3

0) |2x*+5x-10| = 5-2x;
B) [X|t| x-4|+|x-5|=12
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